MANUAL

SHAPE  STRAIGHT
WIDTH 298cm
HEIGHT 148cm

298cm >

1 I N N [
A\ A

YELLOW (3) IT' BLUE (4)

RED (5)

GREEN (2)
] i

|

148cm

PURPLE (1) WHITE (6) __

|
D ORANGE (8) |;| BLACK (7) B
|| mE N I )y

i

-

PARTS LIST
—_
ﬁ 2x | TOP CORNER .——="| 2x | TUBEHORIZONTAL (2 3cm)
N—
2x | BOTTOM CORNER
H 2x | TUBEVERTICAL (2 3cm)
=2 | 2 | Foor
T ox | SCREW(M8) -
HH 1x | TUBESUPPORT (8 2cm)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE  STRAIGHT

WIDTH 98cm
HEIGHT 98cm
< 98cm R
1 [ [
YELLOW (3) BLUE (4)

GREEN (2) RED (5)

] |

98cm

PURPLE (1) WHITE (6)

N
D ORANGE (8) BLACK (7) B
|| e ) g

i

-

PARTS LIST

i 2x TOP CORNER = | 2x TUBE HORIZONTAL ( & 3cm)

2x BOTTOM CORNER

/ 2x FOOT

2x | SCREW(M8)

2x TUBE VERTICAL (@ 3cm)

1x HEXA-KEY (M8)

ﬂmu




MANUAL

SHAPE STRAIGHT
WIDTH 148cm
HEIGHT 98cm
. 148cm R
t I [
YELLOW (3) BLUE (4)
H GREEN (2) RED (5) .
98cm
PURPLE (1) WHITE (6) __
D ORANGE (s) BLACK (7
| O c_
4 4
PARTS LIST
W: 2x | TOP CORNER 2x | TUBE HORIZONTAL (@ 3cm)
|]=. 2x | BOTTOM CORNER
2x | TUBEVERTICAL (2 3cm)
/ 2x FOOT
"E' ox | SCREW(M8)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE STRAIGHT
WIDTH 198cm
HEIGHT 98cm
. 198cm R
A I |\\I .
YELLOW (3) BLUE (4)
H GREEN (2) RED (5) .
98cm
PURPLE (1) WHITE (6) __
ORANGE (8) BLACK (7)
g N H N
v
4 4
PARTS LIST
K: 2x | TOP CORNER 2x | TUBEHORIZONTAL (2 3cm)
|]=. 2x | BOTTOM CORNER
2x | TUBEVERTICAL (2 3cm)
/ 2x | FoOT
T ox | SCREW(M8)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE STRAIGHT
WIDTH 248cm
HEIGHT 98cm
. 248cm R
N I _ N N
YELLOW (3) — BLUE (4)
H GREEN (2) RED (5) .
98cm
PURPLE (1) WHITE (6)
ORANGE (8) — ‘ BLACK (7)
g N H H
v
4 4
PARTS LIST
W: 2x | TOP CORNER = | 2x | TUBEHORIZONTAL (& 3cm)
|]=. 2x | BOTTOM CORNER
H 2x | TUBEVERTICAL (% 3cm)
/ 2x | FoOT
T ox | SCREW(M8)
H 1x | TUBE SUPPORT (@ 2cm)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE STRAIGHT
WIDTH 298cm
HEIGHT 98cm
B 298cm >
i [ N . [\ [
YELLOW (3) — BLUE (4)
GREEN (2) RED (5)
98cm
. PURPLE (1) WHITE (6) __
ORANGE (8) - BLACK (7)
i N N EE
v

i

-

PARTS LIST

2x

TUBE HORIZONTAL ( & 3cm)

ﬁ 2x | TOP CORNER
2x | BOTTOM CORNER
2x | TUBEVERTICAL (2 3cm)
=2 | 2 | Foor
"E' ax | SCREW(M8)
1x | TUBESUPPORT (8 2cm)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE  STRAIGHT
WIDTH 398cm

HEIGHT 98cm

B 398cm R
i [ N N N |

YELLOW (3) ITI BLUE (4)
H GREEN (2) RED (5) .
98cm
. PURPLE (1) WHITE (6) __
D il . g G Y e—" T
\ AY \
v A L] \ \
A

i

-

PARTS LIST 1x | HEXA-KEY(M8)
" 2Xx TOP CORNER
2x TUBE HORIZONTAL (2 3cm)
2X BOTTOM CORNER
/ 3x | FooT
2x TUBE VERTICAL (2 3cm)
"E' 1x | SCREW (M6)FOOT MIDDLE
"E' 2x | SCREW(M8)
1x TUBE SUPPORT (2 2cm)

1x | HEXA-KEY (M6)




98cm

A,

MANUAL

7

SHAPE STRAIGHT
WIDTH 498cm
HEIGHT 98cm
. 498cm _
[ | N M L [
YELLOW (3) — — BLUE (4)
___ GREEN (2) RED (5) .
. PURPLE (1) WHITE (6)
ORANGE (8) _ _ BLACK (7)
o o T N N ]

g

-\

1x | HEXA-KEY (M6)

PARTS LIST 1x | HEXA-KEY(M8)
K 2x | TOP CORNER
2x | TUBE HORIZONTAL (@ 3cm)
2x | BOTTOM CORNER
/ 3x | FoOT
2x | TUBEVERTICAL (2 3cm)
E 1x | SCREW (M6)FOOT MIDDLE
E 2x | SCREW(M8)
2x | TUBE SUPPORT (2 2cm)




MANUAL

SHAPE  STRAIGHT
WIDTH 598cm

HEIGHT 98cm
. 598cm R
t | | — N NN ]
YELLOW (3) — _ BLUE (4)
GREEN (2) RED (5)

] |

98cm

PURPLE (1) WHITE (6) __

L
ORANGE (8) _ _ BLACK (7) B
| D i | S l— . s N |

E E
r

-

1x HEXA-KEY (M8)

PARTS LIST

i 2x TOP CORNER

2x BOTTOM CORNER

2x TUBE HORIZONTAL ( & 3cm)

/ 3x FOOT

1x SCREW (M6 ) FOOT MIDDLE

2x TUBE VERTICAL (@ 3cm)

2x SCREW (M8)

2x TUBE SUPPORT (2 2cm)

1x | HEXA-KEY (M6)

—_— | ] | ]




MANUAL

SHAPE STRAIGHT
WIDTH 98cm
HEIGHT 148cm

. 98cm R
1 f N
YELLOW (3) BLUE (4)
- GREEN (2) RED (5) =
148cm
PURPLE (1) WHITE (6) __
ORANGE (8) BLACK (7)
o E HHE
v L
4 4
PARTS LIST
F 2x | TOP CORNER =———= | 2x | TUBEHORIZONTAL (& 3cm)
|]=. 2x | BOTTOM CORNER
2x | TUBEVERTICAL (@ 3cm)

/ 2x FOOT

2x | SCREW(M8)

1x HEXA-KEY (M8)

—_— | =




MANUAL

SHAPE STRAIGHT
WIDTH 148cm
HEIGHT 148cm
. 148cm R
t I [
YELLOW (3) BLUE (4)
H GREEN (2) RED (5) .
148cm
PURPLE (1) WHITE (6) __
D ORANGE (s) BLACK (7
| O c_
4 H
PARTS LIST
W: 2x | TOP CORNER 2x | TUBE HORIZONTAL (@ 3cm)
|]=. 2x | BOTTOM CORNER
2x | TUBEVERTICAL (2 3cm)
/ 2x FOOT
"E' ox | SCREW(M8)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE STRAIGHT
WIDTH 198cm
HEIGHT 148cm
. 198cm R
A I |\\I .
YELLOW (3) BLUE (4)
H GREEN (2) RED (5) .
148cm
PURPLE (1) WHITE (6) __
ORANGE (8) BLACK (7)
g N H N
v
4 4
PARTS LIST
F 2x | TOP CORNER 2x | TUBEHORIZONTAL (2 3cm)
|]=. 2x | BOTTOM CORNER
2x | TUBEVERTICAL (2 3cm)
/ 2x | FoOT
T ox | SCREW(M8)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE STRAIGHT
WIDTH 248cm
HEIGHT 148cm
. 248cm R
N I _ N N
YELLOW (3) — BLUE (4)
H GREEN (2) RED (5)
7
148cm o
PURPLE (1) WHITE (6)
ORANGE (8) — ‘ BLACK (7)
g N H H
v
4 4
PARTS LIST
W: 2x | TOP CORNER = | 2x | TUBEHORIZONTAL (& 3cm)
|]=. 2x | BOTTOM CORNER
H 2x | TUBEVERTICAL (% 3cm)
/ 2x | FoOT
T ox | SCREW(M8) ¥
”H 1x | TUBE SUPPORT (@ 2cm)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE  STRAIGHT
WIDTH 398cm
HEIGHT 148cm

) 398cm N
1 L N N N [
YELLOW (3) IT' BLUE (4)
H GREEN (2) RED (5) .
148cm £
. PURPLE (1) WHITE (6)
D 1 N TN N 1=
v A L] A \
S

i

-

PARTS LIST 1x | HEXA-KEY (M8)
ﬁ 2x | TOP CORNER
2x | TUBE HORIZONTAL (o 3cm)
2x | BOTTOM CORNER
/ 3x | FoOT
2x | TUBEVERTICAL (2 3cm)
"E' 1x | SCREW (M6)FOOT MIDDLE
"E' 2x | SCREW(M8) 1
|H 1x | TUBE SUPPORT (o 2cm)

1x | HEXA-KEY (M6)




MANUAL

SHAPE  STRAIGHT
WIDTH 598cm
HEIGHT 148cm

598cm

1 I ML N M N L [

YELLOW (3) BLUE (4)

GREEN (2) RED (5)

] |

N

148cm

PURPLE (1) WHITE (6) __

L
ORANGE (8) _ _ BLACK (7) B
| D i | S l— g s N |

i i i
[

1x HEXA-KEY (M8)

PARTS LIST

i 2x TOP CORNER

2x BOTTOM CORNER

2x TUBE HORIZONTAL ( & 3cm)

/ 3x FOOT

1x SCREW (M6 ) FOOT MIDDLE

2x TUBE VERTICAL (@ 3cm)

2x | TUBE SUPPORT (2 2cm)

2x | SCREW(M8) H

1x | HEXA-KEY (M6)

— | ] | ]




148cm

A,

MANUAL

7

SHAPE STRAIGHT
WIDTH 498cm
HEIGHT 148cm

. 498cm _
L \l N N N H
YELLOW (3) lflj \T'J BLUE (4)
— GREEN (2) RED (5)
B
Z 7
. PURPLE (1) WHITE (6)
ORANGE (8) _ _ BLACK (7)
D mE N N N ]

i

E

1x | HEXA-KEY (M6)

PARTS LIST 1x | HEXA-KEY(M8)
K 2x | TOP CORNER
2x | TUBE HORIZONTAL (@ 3cm)
2x | BOTTOM CORNER
/ 3x | FoOT
2x | TUBEVERTICAL (2 3cm)
E 1x | SCREW (M6)FOOT MIDDLE
E 2x | SCREW(M8) s
H] 2x | TUBE SUPPORT (2 2cm)




MANUAL

SHAPE STRAIGHT
WIDTH 98cm
HEIGHT 228cm

A |7

YELLOW (3)

GREEN (2)

228cm ]

PURPLE (1)

BLUE (4)

RED (5)

N

WHITE (6)

BLACK (7)

_§ I

ORANGE (8)
o
v

:

PARTS LIST
[r 2x | TOPCORNER 2x | TUBEHORIZONTAL (8 3cm)
2x | BOTTOM CORNER
2x | TUBEVERTICAL (@ 3cm)

/ 2x FOOT

2x | SCREW(M8)

1x HEXA-KEY (M8)

ﬂmu




MANUAL

SHAPE STRAIGHT
WIDTH 148cm
HEIGHT 228cm

v

A |7

YELLOW (3)

GREEN (2)

228cm

PURPLE (1)

BLUE (4)

RED (5)

N

WHITE (6)

BLACK (7)

_§ I

ORANGE (8)
o
v

:

PARTS LIST
W 2x | TOPCORNER 2x | TUBEHORIZONTAL (o 3cm)
2x | BOTTOM CORNER
2x | TUBEVERTICAL (2 3cm)

/ 2x | FoOT

ax | SCREW(M8)

1x | HEXA-KEY (M8)

ﬂmu




MANUAL

SHAPE STRAIGHT
WIDTH 198cm
HEIGHT 228cm

. 198cm R
* [ N [
YELLOW (3) BLUE (4)
—_ GREEN (2) RED (5)

228cm ]

PURPLE (1) WHITE (6) __

L
ORANGE (8) BLACK (7) B
| [ N H N
v

i

PARTS LIST

i 2x TOP CORNER : 2x TUBE HORIZONTAL (@ 3cm)

2x BOTTOM CORNER
2x TUBE VERTICAL (@ 3cm)

/ 2x | FoOT

2x | SCREW(M8)

1x | HEXA-KEY (M8)

ﬂmu




MANUAL

SHAPE STRAIGHT
WIDTH 248cm
HEIGHT 228cm

. 248cm N
N I _ N N
YELLOW (3) - BLUE (4)
- GREEN (2) RED (5) M
7
28cm| =
7
! PURPLE (1) WHITE (6)
ORANGE (8) _ BLACK (7)
1
D =] § N
v

i

i

PARTS LIST
W 2x | TOP CORNER = | 2x | TUBEHORIZONTAL (8 3cm)
2x | BOTTOM CORNER
2x | TUBEVERTICAL (% 3cm)
/ 2x | FoOT
ox | SCREW(M8)
1x | TUBE SUPPORT (& 2cm)

1x | HEXA-KEY (M8)

ﬂmu




MANUAL

SHAPE STRAIGHT
WIDTH 298cm
HEIGHT 228cm

. 298cm >
* I I N N
YELLOW (3) = BLUE (4)
= GREEN (2) RED (5) M
x4
228cm| ]
7
. PURPLE(I) WHITE (G) :
ORANGE (8) — BLACK (7)
o= N N H .:l_
v

i

-

PARTS LIST
ﬁ 2x | TOP CORNER 2x | TUBE HORIZONTAL (2 3cm)
2x | BOTTOM CORNER

2x | TUBEVERTICAL (2 3cm)

=2 | 2 | Foor

T ox | SCREW(M8)
1x | TUBESUPPORT (o 2cm)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE
WIDTH

STRAIGHT
398cm

HEIGHT 228cm

) 398cm N
1 L N N N [
YELLOW (3) IT' BLUE (4)
H GREEN (2) RED (5) .
<
228cm = -
7
. PURPLE (1) WHITE (6) —
D 1 N TN N T'e
\ \ \
v A L] A \
S

i

-

PARTS LIST 1x | HEXA-KEY(M8)
ﬁ 2x | TOP CORNER
2x | TUBEHORIZONTAL (& 3cm)
2x | BOTTOM CORNER
/ 3x | FOOT
2x | TUBEVERTICAL (2 3cm)
‘E' 1x | SCREW (M6)FOOT MIDDLE
? 2x | SCREW(MS8)
1x | TUBE SUPPORT (@ 2cm)
r 1x | HEXA-KEY (M6)




MANUAL

SHAPE STRAIGHT
WIDTH 498cm
HEIGHT 228cm

498cm

t L L

YELLOW (3)

GREEN (2)

N

228cm ]

|

PURPLE (1)

L

BLUE (4)

RED (5)

WHITE (6)

BLACK (7)

TN

]

|
ORANGE (8) -
| D e N

i

E

1x | HEXA-KEY (M6)

PARTS LIST 1x | HEXA-KEY(M8)
K 2x | TOP CORNER
2x | TUBE HORIZONTAL (o 3cm)
2x | BOTTOM CORNER
/ 3x | FoOT
2x | TUBEVERTICAL (o 3cm)
E 1x | SCREW (M6)FOOT MIDDLE
E 2x | SCREW(M8)
2x | TUBE SUPPORT (9 2cm)




MANUAL

SHAPE STRAIGHT
WIDTH 598cm
HEIGHT 228cm

) 598cm .
1 | 3 N N N N —
YELLOW (3) — - BLUE (4)
- GREEN (2) RED (5) =
228cm| -
L PURPLE (1) WHITE (6)
ORANGE (8) _ — BLACK (7)
e N N | N \ H B
v
4 4 H
PARTS LIST r 1x | HEXA-KEY(M8)
F 2x | TOPCORNER e
T
‘= | 2x | TUBEHORIZONTAL (& 3cm)
“=.
|]=. 2x | BOTTOM CORNER p—
/ 3x FOOT
2x | TUBEVERTICAL (@ 3cm)
‘E' 1x | SCREW (M6)FOOT MIDDLE
"E’ 2x | SCREW(M8) s
[ N 2x | TUBE SUPPORT (8 2cm)
r 1x | HEXA-KEY (M6) g




MANUAL

SHAPE STRAIGHT
WIDTH 98cm
HEIGHT 248cm

. 98cm R
1 f N
YELLOW (3) BLUE (4)
- GREEN (2) RED (5)
248cm _|:| L | |:h
PURPLE (1) WHITE (6)
ORANGE (8) BLACK (7)
o E HHE
v L
4 4
PARTS LIST
F 2x | TOP CORNER =———= | 2x | TUBEHORIZONTAL (& 3cm)
|]=. 2x | BOTTOM CORNER
2x | TUBEVERTICAL (@ 3cm)
/ 2x FOOT
"E' ax | SCREW(M8)
== | 1x | TUBESUPPORT (@2cm)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE STRAIGHT
WIDTH 148cm
HEIGHT 248cm

. 148cm .
i [ N
YELLOW (3) BLUE (4)
= GREEN (2) RED (5)
248cm _|:| L T 1 |:h
PURPLE (1) WHITE (6)
D ORANGE (8) BLACK (7)
v . L
4 4
PARTS LIST
W 2x | TOP CORNER =——— | 2x | TUBE HORIZONTAL (& 3cm)
2x | BOTTOM CORNER
2x | TUBEVERTICAL (2 3cm)
/ 2x | FoOT
T ox | SCREW(M8)
=——: | 1x | TUBESUPPORT (02cm)
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE STRAIGHT
WIDTH 198cm
HEIGHT 248cm

P 198cm R
A
i [ N [
YELLOW (3) BLUE (4)
= GREEN (2) RED (5)
248cm L N NI |
PURPLE (1) WHITE (6)
ORANGE (8) BLACK (7)
o N | N |
v L
4 i
PARTS LIST
K: 2x | TOP CORNER ;= | 2x | TUBEHORIZONTAL (& 3cm)
|]=. 2x | BOTTOM CORNER
2x | TUBEVERTICAL (2 3cm)
/ 2x | FooOT
T ox | SCREW(M8)
—_
/~—=" | 1x | TUBESUPPORT (22cm)
N m———
r 1x | HEXA-KEY (M8)




MANUAL

SHAPE STRAIGHT
WIDTH 98cm
HEIGHT 298cm

P 98cm R
I C ]
YELLOW (3) BLUE (4)
GREEN (2) RED (5)

298cm i 1 [

N
M

PURPLE (1) WHITE (6) __

|
ORANGE (8) BLACK (7) B
0 [ _§ I
v

ks

PARTS LIST

i 2x TOP CORNER _ 2x TUBE HORIZONTAL (@ 3cm)

2x BOTTOM CORNER
2x TUBE VERTICAL (@ 3cm)

/ 2x | FooOT

ox | SCREW(MS)
= 1x | TUBE SUPPORT (2 2cm)

1x | HEXA-KEY (M8)

ﬂmu




MANUAL

SHAPE  STRAIGHT
WIDTH 148cm
HEIGHT 298cm

1x HEXA-KEY (M8)

) 148cm .
1 f N
YELLOW (3) BLUE (4)
- GREEN (2) RED (5)
298cm 1t M 1 [
PURPLE (1) WHITE (6)
D ORANGE (8) BLACK (7)
v . L
4 4
PARTS LIST
F 2x | TOP CORNER e———— | 2x | TUBEHORIZONTAL (& 3cm)
|]=. 2x | BOTTOM CORNER
2x | TUBEVERTICAL (@ 3cm)
/ 2x | FOOT
T ox | SCREW(M8)
=——: | 1x | TUBESUPPORT (g 2cm)




MANUAL

SHAPE  STRAIGHT
WIDTH 198cm
HEIGHT 298cm

. 198cm R
A
i [ N N
YELLOW (3) BLUE (4)
- GREEN (2) RED (5)
298cm 11 T Tl 1 [
PURPLE (1) WHITE (6)
ORANGE (8) BLACK (7)
o [\ H N
v L
4 4
PARTS LIST
=——=: | 2x | TUBEHORIZONTAL (o 3cm)
F 2x | TOP CORNER
|]=. 2x | BOTTOM CORNER
2x | TUBEVERTICAL (& 3cm)
/ 2x | FOOT
T ox | SCREW(M8)
—_
/~—=" | 1x | TUBESUPPORT (o2cm)
F——————
r 1x | HEXA-KEY (M8)




